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Section A {30 x 2 marks = 60 marks)
For each question from 1 to 30, four options are given. One of them is the

comect answer. Make your choice (1, 2, 3 or 4}. Shade the correct oval (1, 2,
3 of 4} on the Optical Answer Sheet provided.

i The tabie shows how some animals can be grouped.

Lay Eggs J K
Give Birth to : L M

Young Alive

In which box, J, K, L and M, would vou place a qQuppy?

1 J )
(2) K :

3) L

{4) ™M

-

2  lvan was given a group o.f organisms and he classified them in the table below.
- Which of the following did lvan classify wrongly?

Moss Man
Fern Tiger
Fungi Eagle

{1} Man

(2) Algae

(3) Fungi

{4) Eagle

3 Which of the following statements about birds are true?

A Most birds lay eggs.

B All birds are camivorous.

C Birds are warm-blooded. ,
D Birds have beaks and feathers.

{1} AandBonly
{2) AandDonly
(3} BandConly
{4) Cand D only
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4

Study the two groups of organisms below.

SGroup A U GroupB:. l
B Termites Ants
3 Woodlouse 1 Bird's Nest Fern
X i Y ‘

What can X and Y be?

X Y
{1 Millipedes Centipedes
{2} Mushroom Moss
(3) Snail __Eanthworm
{4) Birds Bees

The table below shows the eye colours that childre
vafious eye colours within a community.

n inherit from parents with

Eye colour of | Mother — Mother — Mother — Mother —
parents brown brown green blue
Father - Father - blue | Father - 1 Father - blue
brown qreen

Eve colour of
children {%}

Which one of the following statements about the inheritance of eye colours by
these children is true?

(1)
{2}
(3}

{4)

eyes,

atheas

children will have eyes the same colour as their parents.

i the fétber has blue eyes, all his children wilt have blue eyes.
if the mother has brown eyes, 58% of her children wili have blue eyes.
it both parents have brown eyes, their children will least likely have brown

If both parents have eyes of the same colour, morethan 50% of their

Which one of the following has the same number of stages in their life cycle as a

butterfiy?

(1}
(2)
3)
4

cockroach
dragonfly
mosquito

grasshopper
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7 Which is the process whereby the spemm enters the eqgg aﬁd fuses with the 2qg?

{1} [lertilisation
{2} pollination
{3} germination
{4} reproduction

8  Which one of the following statements is true about the nymph of an insect?

{1} It has a pair of wings.

{2) Htdevelops into a pupa.

{3) The nymph is neither a male nor female.
{4) Ut moults several imes to become an adult

9 Study the diagram and table below to answer Questions 9 and 10,
The diagram below shows a fruit. . '

Alison carried out an experiment with the above fruit. She used 2 fruits and
labeled them A and B. She cut the part labelled F of fruit B. She then dropped A
and B from a height above the same starting point and recorded the disiance from
the starting point when both fruits reach the floor.

_distance wavelied.

Timetakeén
1ty 2" try 3y
Fruit A 13m 14m 12m
Fruit B 5m 4m 12m

Which one of the following statements correctly states the aim of Alison’s
experiment? )

{1) To find out the longest distance traveled by both fruits. -

{2} Tofind outif part F of the fruit helps the fruit to travel a longer distance.

{3} Tofind out if the distance traveled from the starting point would be longer if
the fruit is smaller. . . _

{4) Tofind out how the cutting of part F of the fruit will allow Fruit B to be lighter,
hence it would travel a further distance from the starting point.
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10 Which vanable/ vanabies must Alison keep the same so that the experiment is

fair one?

A Heighi from which boih fruits are dropped
B Number of times the fiuil is dropped
C Time taken for the fruit to reach the ficor

(1) Aonly

{2} Bonly

(3) Aand B only
4y A BandC

11 The diagram below shows a plant cell.

\What is the main function of K?

{1} It controls activiies in the cell.

{2} 1t gives the celiits fixed shape.

{3) Itiraps light energy to make food.

{4) licontrols substances entering the cell.
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12 Ji'ng Ting setup an experiment as shown below. After three days,

she recorgded
her observations.

damp

cotton wool

seed

B: put in the
refngerator

’ D: puti d
C: put in light putin the dark
Which one of the following is her observation?

{1} Only the seeds in Sef-up A gemminated.
(2) Only the seeds in Set-up D germinated.
(3) The seedsin Set-up A and Set-up B germinated.
(4} The seeds in Set-up A and Set-up C germinated.

13 Siti saw the Sun at different positions in the sky at different time of the day. Which
one of the following is the cause for her observation?

(1) Rotation of the Sun

(2) Rotation of the Earth

{3) Revolution of the Earth

(4) Movement of the Earth around the Moon



2009 - P6 - SC - CAl - Manyang

4

15

16

The table below gives information on 4 matenals, W, X, Y anc Z, based on two
properties. A tick (¥} shows that the materiaj has the property Use this
nformation to answer Questions 14 and 15

i
high
temperature
Does not break N N
easily

Which matenat is most sujtable to build a bomb shelter?

(1 w
{2} X

(3 Y.
4 <

Besides the two given properties,'which one of the following properties is also
important to consider in the design of a bomb shelter?

(1) Hard _ | )
{2) Elastic
(3} Flexible

{4} Magnetic

Xin Ye grouped some objecis according to the materials they are made of as

- shown in the Venn diagram below.

_» straw

chopping
board

What is Object X made of?

A1) Metat

(2} Wood
(3) Plasticand metal
{4} - Rubber and metal
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17 Met Xun compared the hardness of 4 malerials by scratching them against each

other. He recorded his observations in the table below. using a tick () t¢ indicate
the presence of scratch marks.

Matenal Presence of scratched marks made b_f__
used to
scratch
P Q R 5
; ‘ (R ——
Q \/ v
R . 5
S ¥ N 7

Which one of the following is the hardest material?

{1
(2
(3) -
4

NALD

18 - Four cars, red, green, blue and yellow participated in a race. The diagram below
shows the positions of the four cars 10 minutes after the race has started.

Starting
Line

—*  Finishing

Blue Car

Green Car

Yellow Car

Red Car

If al the cars have the same mass, which car prbcesses the greatest kineiic

energy?
{1} Red
{2} Blue
3} Green

{4) Yellow
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19.

20

The following chart c;ompares two different chjects.

A

B

Simitarities

Potential Energy

Potentiat Energy -

Differences

Polential Cnergy is
converted to Kinetic
Energy

Potential Energy is
converled to
Electrical Energy

What are Objects Aand B ?

A B
{1) A moving car - A battery
{2} _{ A book on the table A moving bike
{3) - | A stretched rubber band Abaltery

{4} A book on the table

A lighted electric bulb

ot leost on of

How many of the circuits would l{he bulbs light up?

(A}
{C}

(1
(2)
(3)
@

B0 -

.yt

8) _
L ®)
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21, A pendulum swings o and fro through a height as shown in the diagram be

Which of the following graphs correctly shows how th
kinetic energy of the swing change with the height?

(1)

Energy

Kinetic . Potential
energy . energy
Height {m }
A ) .
Potential
- energy

Height {m )

(2
Enérgy

~{4)

Energjr.

low,

€ potential energy and

-

3
Potential Kinetic
energy - energy
Y Height {m )
4 Kinetic
energy

Potential
energy

o Height {m }
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22.

Mathew released a toy car several times and let il run dow

n aramp. He then
recorded the distance traveiled by the toy car. He repeated ihe expesiment but

this ime, on another ramp. The distance travelled was greater for the second

expernment. Which of the following can explain the difference in distance travelie(
by the toy car?

-~

Distance travelled by the toy car.
on the ground

A The material of the first ramp was fougherthan the materiat of the second
ramp. ' i

The toy car in the first experiment had lesser stored energy because the first
ramp was lower than the second ramp.

C The ramp in the first expedment was shorter than the ramp in the second
experment. '

{1) Aonly

{2) Aand Bonly
{3} AandC only
{4y A, BandC

23 Which one of the following is a non-renewable resource of energy?

{1} bee
{2) wind
{3) petrol
{4) water

11
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24 Four cylindrical blocks of the same size but of different materials are dropped
from the same height as shown in the diagram below.

Steel Cork Rubber Copper
B e Rt @ ____________ . T - i —-———-.@_____
5m : : : :
k4 .; . N :
T 11 1

Which of the following statement is true?

{1} The steel block has the most potential energy to be converted to kinetic

energy. 3

{2} The cork_biock has more potential energy than the p,lasfc‘ block.
_ : _ Cork
{3) The rubber block has less potential ensrgy than the geck block.

{4) The copper black has more potential energy than the steel block.
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25 Wimch one of the following diagrams correctly shows how a ray of hight

15 reflected
by a mirrar?
{1) (2
ob;ect ob;ect

object

26 Which of the following statement about solar energy is faise?
{1} Solar energy is a renewable energy source.
{2} Solar eriergy consists of light and héat energy.
{3) Alllving t!;ii';gs depend directly or indiréc-tiy on soiér energy for survival,

(4) Solar energy cannot be converted into other forms of energy such as heat
energy and electrical energy

13
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27

Roller coaster cars do not have motors a
. nd they move up and d
with Ihe energy from the height at which the ride begins.p oo i
xe diagrams show four different rofter coaster track designs
hich track wouid allow a roller coas P
bl ler car to iravel continuously from START to

e slopes

{t) (2)

14
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28  Study the diagramn below and answer Question 28 and 29 :

Torchiight .

Square-shaped Basket Ball Screen
wood

What will the shadow on the screen look like?

(1) 2) 3) )

D49 :
387 If the basket ball is moved nearser 1o the torchlight, what will the shadow on the
weall would most likely look like? '

(4)

{1} (2)

15



2009 - P6 - SC - CAl - Manyang

30 Wilson walked from point A te point D,

(3)

(4

16
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Section B (40 marks)

Wiite your answers 1o questions 31 to 46 in the spaces provided.
Marks wilt be deducted for misspell key words.

31  The dassification chart below shows how organisms are classified.

Animals

/

Gives birth Lay! Gives birth Lay
to young egygs 1o young eggs
ELives on Lives in Lives on Lives on Lives on Lwvesin
Land waler fand land fand water
-1 Man Whale : Duck Q Bee Wiater snail
(a) Whatis a suitable heading for X and Y?
b =
Y -

{b) Describe organism Q.

18
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32 Siudy the diagram below.

!'Potien grains from a male flower

] Process 1

Female flower
] { Process B ]

The ovitle
become Y

The ovary
becomes X

(8) Identify processes A, B and Structure X, Y correctly.

Process A:

Process_ B:

Structure X

Structure Y:

{b} Name the ‘process which oc;:urs after Process B which is important for the
healthy growth of the young plants as they are far away from the parent plant.

19
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33 Samuel carmed out an experiment on a seed growing into a seedling as shown below.

shool

seed leal

In the graph below, the two curves show changes in the mass of the seed leaf and the
shoot of the seedling during the experiment.

% X

Mass (é)

* Time (days}
Day 8

{a} Which curve, X or Y, shows the changes in the mass of the seed leaf during the
experiment. Give a reason for your answer.

(b) Whatwould happen to the seedling if there were no sunlight throughout the first
eight days of the experiment?

ER—

{c} Howdid the seedling get its food front day 8 onwards?

Z6

{

Py
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34  Jumta saw some bracket fungi growing a rotting log when she was hiking in Bukit Tim:
nature reserve.

{a) How do bracket fungi reproduce?

(b) What important role does the bracket fungi play in a forest comminity?

-

35 Clear plastic or glass are used to make the lens of the spectacles.

Aa} Why are these two malerials commonly used to make the lens of the
spectacles?

(b} Statetwo ad{tantages of using plastic in_s;(ead of glass to make spectacles.

{®

(i)

21
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36 The classification chart below shows how some objects of the Solar System could be
classified,

Objects of the Solar -H‘-"QV

Planet Moon } Z ’

Mars Moon of Earth Sun
Earth ~ Moons of '
Mercury Saturn

{a} Identfy the ﬁeading “Z" in the above classification chart.

The heading for “Z" is

(b} Fill in the blanks with a suitable word to complgte a statement about the
movement of objects in the Solar System.

The planets revolve around the and the moons revolve around the

37  During pholosynthesis, plants changes carbon dioxide and water into sugar and
oxygen. Explain in terms of energy conversion how energy from the sun is used
during this process.

22



2009 - P6 - SC - CAl - Manyang

38  The diagram below shows a hydroelectric power station.

dam

TESErVHD

eledricity

hydroelectric

water
flowing down

The dam is built on higher ground for storage of waler behind the reservoir. When
water flows down from the bottom of the dam, it turns a turbine. The turbine is
- connected to a generator where electricity is produced.

{a) Give a reason why water is stored at a highet ground in a hydroelectic plant.

(b} ltis expensive to build such a hydroelectric plant. Give another disadvantage o
such a hydroelectric plant. '

The energy from turning windmills can alsoe bé used to drive turbines which generate
electricity.

-

{c}  Write the energy conversion that takes place once the windmills start turning.

Windmill : - turbine generator

23
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3% Al placed a cone in the middie of a baskelball court on a Sunny day. He measured the

length of the shadow formed by the cone at hourly interval from 8 am to S pm. With the
measurementls he recorded, he wanted to plot a graph.

Draw n the graph below what would Ali's graph would ook like.

Length of
Shadow

1 1
8 am 12 gm . 5 plm

46 A periscope is an instrument that enables us to view objects that are blocked from our

view due to a barrier such as high wal or fence. The diagram below shows Harry
making use of a periscope. )

periscope

high waoll

(@)  What two properties of light that @nables the periscope to work? !

24
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41 Hut Min suspended 2 kltle pan to a spring as shown in the diagram below. The spring
stretched further each time she added some marbles onto the pan. She recorded the
length of the spring in the lable as shown

i
- A
stretched §
spring i
No. of marbles on the [ ] 1 3 5 7 9 11
pan i :
Length of spring {mm ) 0 S 16 25 36 36 36

{a} Using the data shown in the table, plot a graph with the given axis below. {2

Number of 4
marbles 1
)ttt
Length of spring { mm )
{b} Afier adding 7 marbles and more, the length of the spridg remained the same.
Explain why. )

25
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42 The diagrams below show some energy converlers in our surroundings.

(a) {b} {c}
A battery-powered toy Calculator with solar celis Television
truck ' i

State the main energy conversions in these energy converters when they are used.

(a) = .
—_—
Battery toytrack track )
(i
{b} x
—_—
_I -
Solar cells LCD
{1
{©)
—

Power s%:kel television

"
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43 Study the two circutis below.

Circuit A Circuit 8

I

(a) Explain in terms of energy conversion, which circuit will enable the bulb to be
brighter?

" (b} When a new battery is added to Circuit A the bulb is not as bright as Circuit B.
Exptain why. ' _
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44 Sally built a catapult using rubber bands, ice cream sticks

and a spoon as shown in
the diagram below.

Plastic spoon

Rubber bonds

Iee cream sticks

An object can be placed in Part A and when it is released,

the object canfiy off a
distance. : :

(a} Suggest two ways that Sally can change the catapult such that she can shoot
the same cobject further. :

{b} Wiite the energy changes to the rubber band when the Catapult is released.

o5
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45 Material Y is used 1o make a giit wrapper of varous thickness. The table below shows 1
different thickness of Y and ihe amount of light that could pass through .

Thickness of Amount of lighfihal
material Y could pass through Y
{mm} _ (lux},
1 50
5 2 . 10
3 0
4 0

James has only several sheets of Y of 2mm thickness. He needs to wrap a glass bottte
with Y so that no light could enter it

{a) What is the minimum number of sheets of Y that he shouid gsé to wrap up the
glass bottle?

{b) Explain your answer in (a). .

{c} State one property that material Y should have so that it could be usedwowivraif
the glass bottle easily.
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46 The pie chart below shows the percentage of different plants in two schools, Yi Xin Primar
and Xin Xin Pamary.

Heliconia
35%

Y1 Xin Prmary Xin Xin Primary -

Put a tick (v} in the appropriate boxes to indicate whether the sfatements are True', ‘Falss
or "Not possible to tell’.

[ ]
Iy
L%

Tsue False Not
possible to
 tell

(a} }{ The number of heliconia plants in both
Yi Xin angd Xin Xin Primary school are
the same.

{b} ! in Xin Xin primary, the percentage of
bird’s nest fern is higher than the
percentage of Hibiscus.

{c) [ Xin Xin Primary school is not conducive
for hibiscus to-grow.

(d) i There are only 4 plant populations in
both schools.

Sefters:  Ms Sunnie Tang
Mrs Shirley Lam
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4 |31 213]213t1l21aftajsz|1]2]

31)a)X: With badcbones.
Y: No backbones.
b}Q lives on land,gives birth to young.

32)a)A: pollination B: fertilisation
X: fruit Y: seeds
b)Dispersal at seeds

33)a)Seed leaves provided food for the seedlmg

b)It would still be alive as the seed leaf provides food for the
seedling. '

It gets the food from the leaves by photosynthesis.

34)a)Reproduce by spores.
_ b)Bracket fungi decompose decaying things in the forest. It
then makes the soil richer with nutrients.

35)a)They arte transparent.
b)i)Plastic does not break easily.
if)Plastic is lighter than glass.

Pagelito3 . : pagel -
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36)a)star b)sun, planets

37)The sun gives out light energy and the plants converts the
light energy to chemical potential energy.

38)a}When the water rushes down, so it can be converted to 3
higher amount of kinetic energy thus, producing more electncal
energy.

b)It the hydroelectric plant is not work well, there mighthe g
flood.

c)Kinetic energy->Kinetic energy->Fletrical energy

8am 1Zpm Spm

40)a)Light travels in a straight light line and can be reflected.

41)a)

.

35

b)The spring had reached maximum elastic.

Page 2 .
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42}a)Chemical enérgy-) Kinetic energy.
b)Light energy>light energy.
C)Eletrical energy>light energy+Sound energy-+Heat energy.

43)a)Circuit B will be brighter as there aremore chemical
potential energy to electrical energy to light up the bulb.
" b)The batteries in A are weaker the batteries in B.

44)a)More twist of the rubber band and add more rubber bands.
b)Elastic potential energy- Kinetic energy-

45)a)Two.
b)As there are two 2mm of material Y, it equalsto 4 mim and
. 4mm of material 4 does not allow any light to pass throught min
needed is 13mm of Y to hlock light. T
€)1t can be bend.

46)a)Not
bYyT
C)Not
4T
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